BARERIIEFRR2EH [ —F&] BERREREE

%2038 (114/6/23-114/6/27)

TR 6/23 | 6/24 | 6/25 | 6/26 | 6/27
i j@,; FO | ag— | em=|2mz| 2mw | 2mz | 7| T8 | BX
%—1= | 125 |#axés| 900 |90.0 |90.0 | 90.0 | 95.0 |455.0 | 91.0 | 1
F—% | 122 |%4%| 900 |90.0 |90.0 |90.0 |90.0 |450.0 | 90.0 | 2
B—% | 121 |#h | 900 |90.0 |90.0 | 90.0 | 90.0 |450.0 | 90.0 | 2
B—1- | 141 |m= | 900 |90.0 |90.0 |90.0 | 90.0 |450.0 | 90.0 | 2
K3k | 143 | E | 90 [90.0 |90.0 |90.0 | 90.0 [450.0 | 90.0 | 2
B—B | 142 |%%#| 850 |90.0 [90.0 | 90.0 | 90.0 |445.0 | 89.0 | 5
A —% | 132 |24 %0 |85.0 |85.0 | 90.0 | 92.5 |442.5 | 88.5 | 7
%—% | 115 |wkses| 900 |90.0 |90.0 | 85.0 |80.0 [435.0 | 87.0 | 8
A —{= | 133 |#wFZ| 400 |80.0 |82.5 | 80.0 | 80.0 [362.5] 72.5 | 9
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% 4= 124 |pEZB & 90.0 [90.0 [90.0 [ 90.0 90.0 1450.0 | 90.0 1
A = 4= 134 |[m=3 87.5190.0 [90.0 |[90.0 |[90.0 [447.5 | 89.5 2
T 123 |(zas#=| 90.0190.0 |80.0 |[90.0 |95.0 [445.0 | 89.0 3
% =% 114 |prE4z| 72.5190.0 |90.0 | 90.0 90.0 |432.5 | 86.5H 4
B 4= 113 |a&4=| 7.0 [85.0 [85.0 | 85.0 85.0 |415.0 | 83.0 )
R 144 |pa#epze| 85.0 1 85.0 [82.5 | 80.0 |[80.0 [412.5 | 82.5 6
Sl | 145 |#k&b##[ 65.0 1 80.0 |[57.5 | 80.0 80.0 [362.5 | 72.5 i
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HE ” 6/23 | 6/24 | 6/25 | 6/26 | 6/27 J i
BB | e | F |y | e 2wz | 2mw | 2ms | 07| TR EX
Z—z | B23 |#r#RdE]90.0 [90.0 [90.0 [90.0 |90.0 [450.0 [ 90.0 1
B—%a| 225 [ME3£[90.0 [190.0 [90.0 | 90.0 |[90.0 |450.0 [ 90.0 |
A=z | 111 |#k#&Ac|87.5 [90.0 |90.0 [90.0 | 90.0 [447.5 | 89.5 3
A=z | 112 |3)EE[90.0 [90.0 |87.5 [90.0 | 90.0 |[447.5 | 89.5 3
A — | B25 |3&®79E[90.0 [85.0 |90.0 |85.0 |92.5 [442.5 | 88.5 5
= | 131 |[22%(80.0 [80.0 [80.0 |[80.0 |80.0 [400.0 | 80.0 6
o7 | B22 |3EEE|75.0 [80.0 [67.5 |80.0 |80.0 [382.5 | 76.5 7
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